
MATH180C: Introduction to 
Stochastic Processes II

Lecture A00: math-old.ucsd.edu/~ynemish/teaching/180cA
Lecture B00: math-old.ucsd.edu/~ynemish/teaching/180cB

Week 5: 

homework 4 (due Friday, April 29)

regrades for HW 3 active until April 30, 11PM

Today: Renewal processes
Poisson process as a 
renewal process

Next: PK 7.2-7.3, Durrett 3.1
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Renewalequation

Proposition} . Let (Nlt))t≥o be a renewal process with

inter renewal distribution F. Then MAKE / NCH)
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Poissonprocessaaeewapres
The Poisson process Nlt) with rate d > o is a

renewal process
with Ffx) = 1- e-

"
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- sojourn times Si are i. i. d.
,
Si - Exp (d)

- Si represent intervals between two consecutive

events (arrivals of customers )

- Wn = Ési
i=o

- we can take Xi = Si . , in the definition of

the renewal process
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Poissonprocessasaeewapress
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